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, wen the number is indefinite. ‘Every’ is a stronger word than ‘each’.

- r-q- B

S eac h w1thout exception. Each of the two words takes a singular verb.
1t ij "'1 ” ng sentences:

lass|took his seat. [« ult
- Uh,.&-; ould do his duty. -’*‘dﬂv vi 1"

a{,‘ - Fach

with one of the Distributive Determiners ‘each’ or ‘every’

C! i"l”ﬂmﬁ' he calls, I am out.

7“ 1 x ; f.ﬂd’lr student in the school.

ad .LALM... article in the newspaper.
x—r W’N word they spoke.

3. .X@L4\... child in the house was given a toy-train.

||*""

o

S0V movement.
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ler’ or ‘neither”:
of the road. There is no Pal'king f
TUE _::.,jf;i'. \d of the corridor. 7

.l

You will get no marks.
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at, Whose) ans ver did you glve?
':-.s* °h, W’W) palace is this?
Nhose, Which) baskets are meant for fruits?
, What) sort of a person is he?
, Whose) road should we take?

Whou) names have you given to the twins?

Mm)cansthis?
W)bookdoweﬁndthecharacﬁer‘
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